
 

 

 

 

 



 

 

 

 

Problem 8. 

 

  b) Start with the list of codewords {0, 01, 110, 111}.  0 is a prefix for 01, which 

 generates a dangling suffix of 1. Augment the codeword list with the dangling suffix. 

                        {0, 01, 110, 111, 1}. 

 Now, 1 is a prefix of 110 and 111 generating the dangling suffixes 10 and 11. 

 We augment the list and continue, which gives us {0, 01, 110, 111, 1, 10, 11}. 

 As 11 is a prefix of both 110 and 111, it generates dangling suffixes 0 and 1, which are 

 both already in the list. Thus, this code is not uniquely decodable. 

 An example of message that cannot be decoded by this code is 01110. This message has 

 two possible ways of decoding: 01–110 or 0–111–0. 

 


